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Log M1 | FIO2 | Log M2 LogM3 | P-1 Log P-1
2,567 | 218 | 2,338 2,114 1 0
2,029 64 1,806 1,531 2 0,30103
1,653 30 1,477 1,114 3 0,477121
1,398 15 1,176 0,903 4 0,60206
1,146 8 0,903 0,699 5 0,69897
LogM1 | FIO2 | Log M2 Log M3 L Log L

2,029384| 64 | 1,80618 1,531479| 1,5 |0,176091

1,845098 | 36 |1,556303 1,255273| 1,25 | 0,09691

1,579784| 27 |1,431364 1,079181| 1 0

1,361728 | 12 |1,079181 0,69897 | 0,75 | -0,12494

1,079181| 5 0,69897 0,30103 | 0,5 | -0,30103
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GRAFICO 1: FIO 1 (Y=-2,014 + 2,589
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GRAFICO 2: FIO 2 (Y=-2,024 + 2,377)
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GRAFICO 3: FIO 3 (Y=-2,031 + 2,115)
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GRAFICO 4: FIO 1 (Y= 1,808 + 1,687)
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GRAFICO 5: FIO 2 (Y= 2,295 + 1,386)
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GRAFICO 6: FIO 3 (Y= 2,545 + 1,049)
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